

IFB#Bid 23-03SN – Small Kitchen Equipment

- **Purpose:** The School Nutrition Department seeks to acquire new small kitchen equipment.
- **Background Info:** Some small kitchen equipment has exceeded the expected life span and needs to be replaced. The new small kitchen equipment will include bun racks, bus carts, sheet pans, can openers, fruit slicers, steam table pans, etc.
- Cost: \$102,041.89
- Funding Source: Federal Funds 240
- Recommended Supplier/Service Provider:

Ace Mart Restaurant Supply Co Sam Tell and Son Inc. Commercial Food Service Misson Restaurant Supply

Board Approval

Date



1	BUN /	SHEE	T	PAN	RACK	

Supplier	QTY	UOM	Estimated	Unit Price	Extended Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
Mission Restaurant Supply	96	EA			I have included Channel # 401AN as alternate. Please see attached quote for full details.	Gusto	GUSBPR-Z-FULL
[ALT1] 11400 Inc	96	EA		\$106.14	S10,189.44 Regency 10 Pan End Load Half Height Bun / Sheet Pan Rack -Unassembled	Regency	600PR103K
[ALT1] Pollock Investments DBA Pollock Paper Distributors	96	EA		\$199.53	\$19,154.88 20-TIER PAN RACK W/4 CASTERS - THIS IS NOT PRE-ASSEMBLED FOR DELIVERY	THUNDER GROU	JP ALSPRO20
Ace Mart Restaurant Supply Co	96	EA		\$225.776	521.674.496 Price includes install & delivery fee of \$3387.50 divided two 11 line items, \$362.50.		GUSBER-2-FULL
Sam Tell and Son Inc	96	EA		\$270.71	\$25,988.16	Gusto	GUSBPR-Z-FULL
[ALT1] Commercial Food Service	96	EA		\$295.00	\$28,320.00 Nesting Sheet Pan Rack, 22"L x 27-1/2"W x 70"H, (20) full-size 18" x 26" sheet pans capacity, 650 lb. capacity, 3" spacing, front loading, open sides, (4) caste	s Winco	AWZK-20
[ALT1] Mission Restaurant Supply	96	EA		\$324.13	\$31,116.48 I have included Channel # 401AN as alternate. Please see attached quote for full details.	Channel Manufa	ect 401AN
Pueblo Hotel Supply	96	EA		\$329.99	\$31,679.04	Gusto	GUSBPR-Z-FULL
11400 Inc	96	EA		No Bid		Gusto	GUSBPR-Z-FULL
Empire Paper Company	96	EA		No Bid		Gusto	GUSBPR-Z-FULL
Pollock Investments DBA Pollock Paper Distributors	96	EA		No Bid		Gusto	GUSBPR-Z-FULL

1 BUN / SHEET PAN RACK

_

Supplier	Criteria 1	Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total	Awarded Vendor
Mission Restaurant Supply		0	0	0	0	0	0	0	0	0
[ALT1] 11400 Inc	1	0	5	0	2	4	5	5	5	26
[ALT1] Pollock Investments DBA Pollock Paper Distributors		0	5	0	2	4	5	5	5	26
Ace Mart Restaurant Supply Co		- 60	4	10	3	3	9	9	- 56	THE ACE MART RESEARCEANT STIPPEN
Sam Tell and Son Inc		55	5	10	5	4	5	5	5	94
[ALT1] Commercial Food Service		0	5	5	5	5	5	5	5	35
[ALT1] Mission Restaurant Supply		0	5	5	5	5	5	5	5	35
Pueblo Hotel Supply		50	5	10	5	4	5	5	5	89
11400 Inc		0	0	0	0	0	0	0	0	0
Empire Paper Company		0	0	0	0	0	0	0	0	0
Pollock Investments DBA Pollock Paper Distributors		0	0	0	0	0	0	0	0	0

Supplier	QTY	UOM	Estimated Unit Price	Extended Supplier Notes	Manufacturer	Manufacturer
Ace Mart Restaurant Supply Co	111	EA	\$192.7058	\$21,390.3438 Price includes install & delivery fee of \$3987.50 divided into 11 line items, \$362.50.	Lakeside	LAK311
Mission Restaurant Supply		EA	\$189.50	\$21,034.50	Lakeside	LAK311
Pueblo Hotel Supply	111	EA	\$201.16	\$22,328.76	Lakeside	LAK311
Sam Tell and Son Inc	111	EA	\$205.58	\$22,819.38	Lakeside	LAK311
Commercial Food Service	111		\$227.00	\$25,197.00	Lakeside	LAK311
11400 Inc	111	EA	\$238.70	\$26,495.70	Lakeside	LAK311
Empire Paper Company	111	EA	No Bid		Lakeside	LAK311
Pollock Investments DBA Pollock Paper Distributors	111	EA	No Bid		Lakeside	LAK311

2 BUSSING UTILITY TRANSPORT CART

Supplier	Criteria 1	Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total	Awarded Vendor
Ace Mart Restaurant Supply Co	-	55	5	10	5	5	5	5	5	95
Mission Restaurant Supply		601	1	10	- 2	1	1	3	1.1	TOD TABSSON DESTAURANT SAMPLY
Pueblo Hotel Supply		50	5	10	5	4	5	5	5	89
Sam Tell and Son Inc		45	5	10	5	4	5	5	5	84
Commercial Food Service	-	40	5	10	5	5	5	5	5	80
11400 Inc		35	5	10	5	4	5	5	5	74.
Empire Paper Company		0	0	0	0	0	0	0	0	0
Pollock Investments DBA Pollock Paper Distributors		0	0	0	0	0	0	0	0	0



3 BUN / SHEET PAN

Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer
Ace Mart Restaurant Supply Co	558	EA		\$9.5896	55,350 996	8 Price Includes Install & delivery fee of \$3987.50 divided into 11 line items, \$362.50	Volirath	VOL9002
[ALT1] Commercial Food Service	558	EA		\$9.81	\$5,473.9	3 Sheet Pan, full-size, 18" x 26", 18 gauge aluminum	Thunder Group	ALSPM
Sam Tell and Son Inc	558	EA		\$11.36	\$6,338.8	3	Vollrath	VOL9002
[ALT1] Pollock Investments DBA Pollock Paper Distributors	558	EA		\$11.70	\$6,528.6	18X26 FULL SIZE ALUM SHEET PAN - MUST BE SOLD BY CASE OF 12 EACH	THUNDER GROU	P ALSP1826M
Commercial Food Service	558	EA		\$14.54	\$8,113.3		Volirath	VOL9002
Mission Restaurant Supply	558	EA		\$14.56	\$8,124.4	3	Volirath	VOL9002
Pueblo Hotel Supply	558	EA		\$15.55	\$8,676.9		Volirath	VOL9002
11400 Inc	558	EA		\$15.84	\$8,838.7	2	Volirath	VOL9002
Empire Paper Company	558	EA		\$20.35	\$11,355.3) part# 9369002	Vollrath	VOL9002
Pollock Investments DBA Pollock Paper Distributors	558	EA		No Bid			Vollrath	VOL9002

3 BUN / SHEET PAN

Supplier	Criteria 1	Criteria 2	Criteria 3	Uniteria 4	Uniteria 5	Criteria 6	criteria /	Criteria 8	Iotai	Awarded vendor
Ace Mart Restaurant Supply Co		- 10	4	10	1	8	8	8	1	100. ACE MART RESTRUITANT SUPPLY
[ALT1] Commercial Food Service		0	0	0	0	0	0	0	0	0
Sam Tell and Son Inc		55	5	10	5	4	5	5	5	94
[ALT1] Pollock Investments DBA Pollock Paper Distributors		0	0	0	0	0	0	0	0	0
Commercial Food Service	-	50	5	10	5	5	5	5	5	90
Mission Restaurant Supply		45	5	10	5	5	5	5	5	85
Pueblo Hotel Supply		40	5	10	5	4	5	5	5	79
11400 Inc		35	5	10	5	4	5	5	5	74
Empire Paper Company		30	5	10	5	5	5	5	5	70
Pollock Investments DBA Pollock Paper Distributors	-	0	0	0	0	4	5	5	5	19

Colorada C

Colorado 7

Tetel

4 BUN / SHEET PAN

Supplier	QTY	UOM	Estimated	Unit Price	Extended Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
[ALT1] Commercial Food Service	321	EA		\$5.60	\$1,797.60 Sheet Pan, 1/2 size, 18" x 13", aluminum, 18 gauge	Thunder Group	ALSP1813
Sem Tell and Son Inc.		5A-		56.28	\$2,015.98	Voirath	VOL5303
[ALT1] Pollock Investments DBA Pollock Paper Distributors	321	EA		\$6.63	\$2,128.23 18X13 HALF SIZE ALUM SHEET PAN - MUST BE SOLD BY CASE OF 24 EACH.	THUNDER GROUP	ALSP1813
Ace Mart Restaurant Supply Co	321	EA		\$7.0293	\$2,256.4053 Price includes install & delivery fee of \$3987.50 divided into 11 line items, \$362.50.	Volirath	VOL5303
Commercial Food Service	321	EA		\$10.00	\$3,210.00	Vollrath	VOL5303
Mission Restaurant Supply	321	EA		\$10.53	\$3,380.13	Vollrath	VOL5303
Pueblo Hotel Supply	321	EA		\$10.65	\$3,418.65	Vollrath	VOL5303
11400 inc	321	EA		\$10.85	\$3,482.85	Vollrath	VOL5303
Empire Paper Company	321	EA		\$13.93	\$4,471.53 part# 9365303	Vollrath	VOL5303
Pollock Investments DBA Pollock Paper Distributors	321	EA		No Bid		Vollrath	VOL5303

4 BUN / SHEET PAN

UN / SHEET PAN										
Supplier	Criteria 1	Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total	Awarded Vendor
[ALT1] Commercial Food Service		0	0	0	0	0	0	0	0	0
Sam Tell and Son Inc		-60	<u>s</u>	10	1	4	- <u>R</u> .		- 5	99 SAMETELL AND SCHUSINE
[ALT1] Pollock Investments DBA Pollock Paper Distributors		0	0	0	0	0	0	0	0	0
Ace Mart Restaurant Supply Co		55	5	10	5	5	5	5	5	95
Commercial Food Service		50	5	10	5	5	5	5	5	90
Mission Restaurant Supply		45	5	10	5	5	5	5	5	85
Pueblo Hotel Supply		40	5	10	5	4	5	5	5	79
11400 Inc	8	35	5	10	5	4	5	5	5	74
Empire Paper Company		30	5	10	5	4	5	5	5	69
Pollock Investments DBA Pollock Paper Distributors		0	0	0	0	0	0	0	0	0



5 APPLE SLICER/WEDGER

Supplier	QTY	UOM	Estimated Un	nit Price	Extended Supplier Notes	Manufacturer	Manufacturer #
Commercial Food Service	9	EA		\$152.42	\$1,371.78	Nemco	NEMN55550-8
Mission Restaurant Supply	9	EA		\$158.16	\$1,423.44	Nemco	NEMN55550-8
Pueblo Hotel Supply	9	EA		\$163.19	\$1,468.71	Nemco	NEMN55550-8
Sam Tell and Son Inc	9	EA		\$184.26	\$1,658.34	Nemco	NEMN55550-8
11400 inc	9	EA		\$191.79	\$1,726.11	Nemco	NEMN55550-8
Ace Mart Restaurant Supply Co	9	EA		\$194.338	\$1,749.04 Price includes install & delivery fee of \$3987.50 divided into 11 line items, \$362.50.	Nemco	NEMN55550-8
Empire Paper Company	9	EA		\$246.41	\$2,217.69 part# 591N555508	Nemco	NEMN55550-8
Pollock Investments DBA Pollock Paper Distributors	9	EA		No Bid		Nemco	NEMN55550-8

5 APPLE SLICER/WEDGER

APPLE SLICER/WEDGER										
Supplier	Criteria 1	Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total	Awarded Vendor
Commercial Food Service		-60.	3	10	1	1	5	3	8	TOD: CONINGERIAL FOOD SERVICE
Mission Restaurant Supply		55	5	10	5	5	5	5	5	95
Pueblo Hotel Supply		50	5	10	5	4	5	5	5	89
Sam Tell and Son Inc		45	5	10	5	4	5	5	5	84
11400 Inc		40	5	10	5	4	5	5	5	79
Ace Mart Restaurant Supply Co	_	35	5	10	5	5	5	5	5	75
Empire Paper Company		30	5	10	5	4	5	5	5	69
Pollock Investments DBA Pollock Paper Distributors		0	0	0	0	0	0	0	0	0

6 ORANGE SLICER/WEDGER

supplier	QIY	UOM	Estimated Onit Price	Extended Supplier Notes	Manufacturer	Manufacturer #
Commercial Food Service	14	- EA	\$152.42	52,133,68	Nemco	55550-4
Mission Restaurant Supply	14	EA	\$159.63	\$2,234.82	Nemco	55550-4
Pueblo Hotel Supply	14	EA	\$163.19	\$2,284.66	Nemco	55550-4
Ace Mart Restaurant Supply Co	14	EA	\$179.953	\$2,519.34 Price includes install & delivery fee of \$3987.50 divided into 11 line items, \$362.50.	Nemco	55550-4
Sam Tell and Son Inc	14	EA	\$184.26	\$2,579.64	Nemco	55550-4
11400 inc	14	EA	\$191.79	\$2,685.06	Nemco	55550-4
Empire Paper Company	14	EA	\$246.41	\$3,449.74 part# 591N555504	Nemco	55550-4
Pollock Investments DBA Pollock Paper Distributors	14	EA	No Bid		Nemco	55550-4

6 ORANGE SLICER/WEDGER

Supplier	Criteria 1	Criteria 2	criteria 3	Criteria 4	Criteria 5	Criteria 6	Criteria /	Criteria 8	Iotal	Awarded vendor
Commercial Food Service										
Mission Restaurant Supply		55	5	10	5	5	5	5	5	95
Pueblo Hotel Supply		50	5	10	5	4	5	5	5	89
Ace Mart Restaurant Supply Co	1	45	5	10	5	5	5	5	5	85
Sam Tell and Son Inc		40	5	10	5	4	5	5	5	79
11400 Inc		35	5	10	5	4	5	5	5	74
Empire Paper Company		30	5	10	5	5	5	5	5	70
Pollock Investments DBA Pollock Paper Distributors		0	0	0	0	0	0	0	0	0



7 DRYING RACKS (NO AWARD)

Supplier	QTY	UOM	Estimated	Unit Price	Extended Supplier Notes Manu	facturer	Manufacturer #
Mission Restaurant Supply	9	EA		\$1,010.00	\$9,090.00 CAMB	RO	CPMU244875PDPKG
11400 Inc	9	EA		\$1,010.90	\$9,098.10 CAMB	RO	CPMU244875PDPKG
Ace Mart Restaurant Supply Co	9	EA		\$1,019.298	59,173.68 Price includes install & delivery fee of \$3987.50 divided into 11 line items, \$362.50. CAMB	RO	CPMU244875PDPKG
Pueblo Hotel Supply	9	EA		\$1,028.97	59,260.73 CAMB	RO	CPMU244875PDPKG
Sam Tell and Son Inc	9	EA		\$1,051.58	\$9,464.22 CAMB	RO	CPMU244875PDPKG
Commercial Food Service	9	EA		\$1,098.90	59,890.10 CAMB	RO	CPMU244875PDPKG
Pollock Investments DBA Pollock Paper Distributors	9	EA		No Bid	CAMB	RO	CPMU244875PDPKG
Empire Paper Company	9	EA		No Bid	CAMB	RO	CPMU244875PDPKG

7 DRYING RACKS (NO AWARD)

Supplier	Criteria 1	Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total	Awarded Vendor
Mission Restaurant Supply										0
11400 Inc										0
Ace Mart Restaurant Supply Co										0
Pueblo Hotel Supply	-									0
Sam Tell and Son Inc										0
Commercial Food Service										0
Pollock Investments DBA Pollock Paper Distributors										0
Empire Paper Company										0
Pollock Investments DBA Pollock Paper Distributors										0 0 0

8 FULL SIZE DEEP STEAM TABLE PAN

Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
Sam Tell and Son Inc.	49	EA		S12.79			Volleath	36042
[ALT1] Pollock Investments DBA Pollock Paper Distributors	49	EA		\$23.62	\$1,157.3	3 4" DEEP FULL SIZE SS H/D STEAM PAN - MUST BE SOLD BY CASE OF 12 EACH.	THUNDER GROU	IP STPA2004
Commercial Food Service	49	EA		\$31.00	\$1,519.00		Vollrath	30042
Mission Restaurant Supply	49	EA		\$29.70	\$1,455.30		Vollrath	30042
Pueblo Hotel Supply	49	EA		\$32.22	\$1,578.78		Vollrath	30042
Ace Mart Restaurant Supply Co	49	EA		\$36.7399	\$1,800.20	Price includes install & delivery fee of \$3987.50 divided into 11 line items, \$362.50. Price also includes a broken case fee of \$5.00 from the Manufacturer.	Vollrath	30042
1400 Inc	49	EA		\$40.12	\$1,965.8		Vollrath	30042
Empire Paper Company	49	EA		\$51.55	\$2,525.95	part# 92230042	Vollrath	30042
Pollock Investments DBA Pollock Paper Distributors	49	EA		No Bid			Vollrath	30042

٦

8 FULL SIZE DEEP STEAM TABLE PAN

ULL SIZE DEEP STEAM TABLE PAN										
Supplier	Criteria 1	Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total	Awarded Vendor
Sam Tell and Son Inc										
[ALT1] Pollock Investments DBA Pollock Paper Distributors		0	0	0	0	0	0	0	0	0
Commercial Food Service		55	5	10	5	5	5	5	5	95
Mission Restaurant Supply		50	5	10	5	5	5	5	5	90
Pueblo Hotel Supply		45	5	10	5	4	5	5	5	84
Ace Mart Restaurant Supply Co		40	5	10	5	5	5	5	5	80
11400 Inc		35	5	10	5	4	5	5	5	74
Empire Paper Company		30	5	10	5	5	5	5	5	70
Pollock Investments DBA Pollock Paper Distributors		0	0	0	0	0	0	0	0	0



Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer
Pueblo Hotel Supply	75	EA		\$17.91	\$1,343.2			
Commercial Food Service	75	EA		\$58.87	\$4,415.2	5		
[ALT1] Ace Mart Restaurant Supply Co	75	EA		\$60.3134	\$4,523.5	1 Volirath Model No. 82040 (789SPECORDER) Packed 4 ea Pitcher, Bell Shaped, 4-1/8 qt. [132 oz.], 10-3/8"H, welded hollow handle, stainless steel, satin finish,	I Volirath	82040
Sam Tell and Son Inc	75	EA		\$65.10	\$4,882.5			
Empire Paper Company	75	EA		\$88.32	\$6,624.0	D part# 92282040		
Mission Restaurant Supply	75	EA		No Bid				
11400 Inc	75	EA		No Bid				
Pollock Investments DBA Pollock Paper Distributors	75	EA		No Bid				
Ace Mart Restaurant Supply Co	75	EA		No Bid				

9 STAINLESS STEEL PITCHERS -(NO AWARD)

9 STAINLESS STEEL PITCHERS -(NO AWARD)	14									
Supplier	Criteria 1	Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total	Awarded Vendor
Pueblo Hotel Supply				1111						0
Commercial Food Service										0
[ALT1] Ace Mart Restaurant Supply Co										0
Sam Tell and Son Inc										0
Empire Paper Company										0
Mission Restaurant Supply										0
11400 Inc										0
Pollock Investments DBA Pollock Paper Distributors										0
Ace Mart Restaurant Supply Co										0

10 EDLUND ELECTRIC CAN OPENER

Supplier	QTY	UOM	Estimated U	Init Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
Ace Mart Restaurant Supply Co.	34	BA.		\$1,406.872	547,833.64	Price includes install & delivery tee of \$3387.50 divided into 11 ine mems, \$362.50.	EDLUND	
Commercial Food Service	34	EA		\$1,486.91	\$50,554.94		EDLUND	
Sam Tell and Son Inc.	34	EA		\$1,495.94	\$50,861.96	5	EDLUND	
Mission Restaurant Supply	34	EA		\$1,502.23	\$51,075.83	2	EDLUND	
Pueblo Hotel Supply	34	EA		\$1,589.97	\$54,058.98	3	EDLUND	
11400 inc	34	EA		\$1,692.90	\$57,558.60		EDLUND	
Empire Paper Company	34	EA		\$2,175.12	\$73,954.08	3 part# 333270	EDLUND	
Pollock Investments DBA Pollock Paper Distributors	34	EA		No Bid			EDLUND	

10 EDLUND ELECTRIC CAN OPENER

Supplier	Criteria 1	Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total	Awarded Vendor
Ace Mart Restaurant Supply Co		60	3	10	8	3	3	3	5	30D ACE MARY RESEAURANT SUPPLY
Commercial Food Service		55	5	10	5	5	5	5	5	95
Sam Tell and Son Inc		50	5	10	5	4	5	5	5	- 89
Mission Restaurant Supply		45	5	10	5	5	5	5	5	85
Pueblo Hotel Supply		40	5	10	5	4	5	5	5	79
11400 Inc		35	5	10	5	4	5	5	5	74
Empire Paper Company		30	5	10	5	5	5	5	5	70
Pollock Investments DBA Pollock Paper Distributors		0	0	0	0	0	0	0	0	0



Supplier	QTY	UOM	Estimated	Unit Price	Extended Supplier Notes / Alternate Description	Manufacturer	Manufacturer
[ALT1] 11400 Inc	15	EA		\$1,019.70	S15,295.50 Metro MAX4-PR48VX2 MetroMax 4 Mobile Three Tier TrayDrying Rack - 24" x 48" x 68"	Metro	MAX4-PR48VX
Ace Mart Restaurant Supply Co	15	EA		\$2,092.709	\$31,390.64 Price includes install & delivery fee of \$3987.50 divided into 11 line items, \$362.50. Price also includes in Bound Freight cost of \$650.14 per Manufacturer.	NEW AGE INDUS	STI 95333
Mission Restaurant Supply	15	EA		\$2,167.18	\$32,507.70	NEW AGE INDUS	STI 95333
Pueblo Hotel Supply	15	EA		\$2,191.88	\$32,878.20	NEW AGE INDUS	STI 95333
Sam Tell and Son Inc	15	EA		\$2,755.38	\$41,330.70	NEW AGE INDUS	STI 95333
Commercial Food Service	15	EA		\$3,625.50	554,382.50	NEW AGE INDUS	STI 95333
Pollock Investments DBA Pollock Paper Distributors	15	EA		No Bid		NEW AGE INDUS	STI 95333
11400 Inc	15	EA		No Bid		NEW AGE INDUS	STI 95333
Empire Paper Company	15	EA		No Bid		NEW AGE INDUS	TI 95333

11 ADJUSTABLE MOBILE TRAY DRYING RACKS - (NO AWARD)

11 Passeshate mobile har birning interes (no Arrand)										
Supplier	Criteria 1	Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total	Awarded Vendor
[ALT1] 11400 Inc										0
Ace Mart Restaurant Supply Co										0
Mission Restaurant Supply										0
Pueblo Hotel Supply										0
Sam Tell and Son Inc										0
Commercial Food Service										0
Pollock Investments DBA Pollock Paper Distributors										0
11400 Inc										0
Empire Paper Company										0

